fi=x-2-2x
L:=3
1. _
ay = E-lnt( f,x=-L..L)
_ %
C:= >

a, = subs(sin(n-Pi) =0,cos(n-Pi)=(-1)--n, = -int

36 (-1)"

an:: 2 2

nrm

b, = subs(sin(nPi) =0,cos(n-Pi)=(-1)--n, l-int

plot( f,x=-L..L)

b :

=]

3
_12(-1)"
ntw

(rgn(

n-Pi

L

-x),x:—L”L))
-xj,x:—L_L))

D
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(5)

(6)
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> SIF := C+Sum(an~cos(%~xj +bn~sin( n

-x), n :1..inﬁnity)

12 (—1)”sin(% nmX

)

= 36
STF:=3+ >
n=1

> STFgy, =C+ sum(an-cos(
> plot(STFgy, x=-29..2.9)

n-Pi

L

5 +
nZTC nrw

. ( n-Pi .
-x) +bn-sm(T-x), n:1..500) :

()
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> plot([ f, STFgy,) X=0.8..1.2)
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:> restart
> f:=-Heaviside(t + 2) + Heaviside(t + 1) + Heaviside(t — 1) — Heaviside(t — 2) : plot(f, t=
-3..3)
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_1_
> L:=3
L:=3
> gy = %-int( f,t=-L..L);C:= %
ao::O
C=0
> a,= %-int(f-cos(%-t),t:—L..L)
2,=0
— 1 .q ﬂ =-
> b, = L mt(fsm( 1 t),t L..L)
2005(z nn) Zcos(l nn)
. 3 3
b= - +
nw nw
> SIF = C—i—Sum(an-cos(%-t) +bn-sin(%-t), n:1..infinity)

(8)

9)

(10)

(11)



1
i E nnt) (12

> SlFgy, = C+sum(an-cos(n'—-t) —i—bn-sin( n -t), n=1..500) .
> plot(STFgy t=-2.9..2.9)

0.5

-0.5+

b——q

> plot( [ f, STFg], t=-13..09)
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(> restart
> f:=exp(2t)
| f=gt (13)
> L:=1

L:=1 149

"> plot(f,t=-L.L, y=0.10)
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> 1= Leint(ft=-L.L); evalf (%,3)

_ 1 2 1
ag:= e+2e

|
-1 -0.5 0

2

2
3.63
> C:= %;evalf(%:%)
1 2 12
C:= 4 e "+ 4 €
1.82
> a, = subs(sin(n-Pi)=O,cos(n-Pi):(—1)--n,%-int

0.

oo

2e?(-1)"+2€& (-1)"

=

= subs(sin(n-Pi) =0, cos(n-Pi)=(-1)

2
4+n27t

1.
N, —-int
L

(f~sin(

5

n-Pi

L

n-Pi

L

-t), t=—L..L) )
~t), t=—L..L) j
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(18)



- _1\" _q,\N
bn:=_ e‘nn(-1) +enn(-1) (18)
2 2
44n"7
> STF —C+Sum( (T t) +h - sn( ),nzl..infinity)
* n
STF::—i i z (-2e 426 (21 )") cos(nmt) 19
4 4 n=1 4+n T
(-e?nn(-1)"+enn(-1) )sm(nnt)]
N 2
4+n T
n-Pi . ( n-Pi 3 _
> STFlOOO = C+Sum(an-COS(T-t) —+—bn.s|n(T.t), n—llOOO) :

[ > plot( [, STF;g0], t=-0.9.09)
6 -]

' .08 -06 -04 -02 O 02 04 06 08

> plot( [ f, STF 0], t=-0.009..0.009, color = [red, blue])
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